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TR HET 27 33 60 33
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&/ — &7 35 42 77 36
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BA R 351 338 689 329
FA R HET 87 102 189 102
FLETE 105 86 191 106
fE./ =HT 38 53 91 50
2DOLME 58 76 134 91
SEhE 585 570 1,155 488
[LZEHT 186 237 423 215
BERAHER/RKES 247 194 441 163
TR EE 4471 4,687 9,158 4,366
R F0 (24B8%)
T HNET 18 25 43 20
Z =M 37 56 93 42
T EHT 47 51 98 45
il 66 68 134 68
SFHT 95 95 190 79
Y EmET 106 120 226 129
FIATHHET 576 550 1,126 520
BRAHT 53 61 114 63
[P N ) 176 176 352 199
FAANHT 80 96 176 93
L ARET— X 149 148 297 148
RHE 215 207 422 226
[ ¥ 143 150 293 161
L ARET X 216 244 460 222
T&E 303 328 631 286
mRE 166 161 327 161
[ERR 304 344 648 235
PE 124 130 254 126
[ i EHET 485 506 991 539
EI==Rs 496 532 1,028 489
BRFOETET 350 374 724 314
JERHET 250 255 505 191
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tEE-K 317 290 607 280
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TBRREOEE 5010 5247 10,257 4,894
KIE (16B8%)
AR 75 81 156 65
#HiE 57 60 117 59
= A 76 67 143 73
KA 566 527 1,093 540
Iz 196 196 392 185
BFR 248 253 501 235
PN AT 151 136 287 122
LT 245 184 429 264
#EO 307 319 626 368
3 371 299 670 405
RharE 81 99 180 77
L\ A 288 304 592 300
E/INEy R 118 106 224 111
d/haykE 184 181 365 153
FAAYE 196 204 400 174
arhE 91 116 207 148
TR EE 3,250 3,132 6,382 3,279
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T BmET 224 228 452 184
HITE 758 750 1,508 679
IRy B 111 194 305 159
RiEEEFHT 378 379 757 394
MEMNE 138 171 309 141
e 163 177 340 162
i EEFET 547 570 1,117 551
Fa £ E FPET 128 170 298 178
T ERETETE 828 868 1,696 747
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*+ Bf = HT 367 351 718 377
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AR 1,132 1,161 2,293 960
B 316 305 621 289
88 94 182 81
FH 128 145 273 124
REFET 275 279 554 246
ER{EMT 123 158 281 132
R L EPHT 136 158 294 128
THRROEE 2,399 2,485 4,884 2,134
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Kith 3R BT 346 344 690 285
rh 3z T 224 196 420 134
R ILIHET 105 96 201 69
F EFHT 697 746 1,443 588
BEMNE 614 574 1,188 388
ITEROEE 1,986 1,956 3,942 1,464
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wmEF 183 222 405 189
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I 280 304 584 288
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T ¥ 90 101 191 97
sk Sl 66 81 147 79
H 145 145 290 146
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TBRDOEE 952 987 1,939 969
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B 68 83 151 63
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N 84 82 166 86
=331 179 172 351 155
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%8ix 43 57 100 47
SR 177 191 368 162
+H 130 137 267 123
#HIE 295 297 592 288
B 98 86 184 103
IEBRSF 510 503 1,013 450
i3 42 46 88 40
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SDOETE 48 41 89 48
MLDOKE 797 856 1,653 707
BT 173 172 345 146
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ai5 60 58 118 55
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us 12 29 41 16
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e 31 36 67 32
INK 35 35 70 37
TF 13 17 30 15
= 14 8 22 17
Bd 28 37 65 30
&k 52 54 106 48
HE 51 57 108 48
H4EIR 104 107 211 103
HAER 85 84 169 91
/8 289 262 551 190
THRREOEE 869 880 1,749 780
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FR 128 131 259 123
+% 37 44 81 37
4% 32 34 66 33
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=& 141 158 299 138
it 50 57 107 53
=1 37 35 72 35
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= 4 8 12 6
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BIEF 48 57 105 46
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Z&Rm 116 111 227 119
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KA 86 88 174 85
ik /A 432 451 883 331
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mD& 371 390 761 335
=1 80 81 161 76
PN 54 104 105 209 112
B 352 BT 619 592 1,211 474
TR EE 2,667 2,697 5,364 2,297
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SR 101 122 223 100
+= 14 16 30 16
NN 55 54 109 50
+=K 26 28 54 28
ERT R 23 26 49 25
T/NH 65 65 130 67
N 23 23 46 21
= 23 24 47 27
EFTXK 64 53 117 55
Xa 67 63 130 60
THRROEE 693 700 1,393 640
kAN (78AE
B AR 88 97 185 95
B\a 50 46 96 51
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F#0 23 29 52 29
XER#H 16 16 32 19
RS EFHT 155 165 320 151
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TEARR 26 27 53 25
hiER KR 7 13 20 13
LiEARK 34 39 73 48
% 23 18 41 21
THRROEE 215 221 436 234
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TH%E 21 22 43 25
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KkE 31 35 66 38

RKEX 60 61 121 71
ITBRREOEE 157 173 330 193
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ER 103 132 235 120

TR O &E 103 132 235 120
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T 836 274 1,110 1,102
ITEROEE 836 274 1,110 1,102
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FiEE VN 14 16 30 19
BH/& 5 6 11 5
M 64 79 143 78
us 119 101 220 102
FR 255 260 515 322
FE 56 58 114 57
Bl 32 39 71 43
7 181 185 366 179
R 41 40 81 39
ITRREOEE 767 784 1,551 844
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PN 42 55 97 55
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& 73 76 149 76
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TH& 56 52 108 68
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TRROEE 261 288 549 308
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B 37 34 71 28
[] 102 116 218 108
EFE 22 24 46 23
PR 16 16 32 16
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THRROEE 597 653 1,250 602
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A& 79 78 157 89
X 36 44 80 38
=12 64 65 129 54
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g 66 71 137 71
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E®RAE (2488
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2l & 75 69 144 59
s 37 49 86 39
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KA 16 22 38 17
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FaiE 33 29 62 26
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KR 40 44 84 35
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Bk 5 7 12 7
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THRROEE 572 624 1,196 557
B ETD & & 1,480 1,595 3,075 1,474
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L% 77 72 149 56
KE 43 49 92 40
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R 94 123 217 93
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TBRREDOEE 592 691 1,283 573
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FA 5 5 10 6
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= 24 26 50 22
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=i 37 48 85 37
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